Exam I, Math 1914 Page 1
1(a) Let f{(z) be the function shown below.
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(ii) Find the points at which f is not continuous.
at X=~-3% 9, 2,4

(iii) Find the points at which f is not continuous from the right.

al = ~%,0, 4

1(b) Explain why the equation 3cosz = 1 4 5z has a solution in the interval (0,1). What result are you
using to know this?
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2(a) The graph of f(z) is shown below. On the second set of axes, draw carefully the graph of the derivative
f'(z). Be as accurate as you can.

2(b) Find the limit
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3. Find all points on the graph of the function

f(a:)=2sinx+sin2a:, 0<z<dnm
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4. Find the derivatives:
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(b) f(z) =tan/1—z

(c) f(z) = z®sinz
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(d) f(z) =

5. The equation of the motion of a particle is s(t) = t* — 3t, where s is in meters and ¢ is in seconds.
(i) Find the velocity and acceleration functions.

(ii) Find the acceleration after 2 seconds.

(iii) Find the acceleration when the velocity is 0.




